For the below table, fill in which operation you would have to do to the following calculation to have the described outcome 12345.6789 x C]

Move the Move the Move the Move the Move the Move the Move the Move the Move the
decimal 1to | decimal 1to | decimal2to | decimal2to | decimal3to | decimal3to | decimal4to | decimal 4to decimal O
the right the left the right the left the right the left the right the left places
-> €« -> <« > <« -> <«
Multiplication
Division
You can use the below symbols to help you (note that there are more options than spaces so some will not go in the above grid)
X 10 X 100 X 1000 X 10000 X0.1 X 0.01 X 0.001 X 0.0001 X0 X1
+10 +100 + 1000 +10000 +0.1 +0.01 +0.001 +0.0001 +0 +1




For the below table, fill in which operation you would have to do to the following calculation to have the described outcome 12345.6789 x C]

Move the Move the Move the Move the Move the Move the Move the Move the Move the
decimal 1to | decimal1to | decimal2to | decimal2to | decimal3to | decimal3to | decimal4to | decimal 4 to decimal 0
the right the left the right the left the right the left the right the left places
2> € > € > € > 4 €
Multiplication X 10 X0.01
Division + 1000 +0.0001
You can use the below symbols to help you (note that there are more options than spaces so some will not go in the above grid)
%10 X 100 X 1000 X 10000 X0.1 X001 X 0.001 X 0.0001 X0 X1
+10 +100 +1000 + 10000 +0.1 +0.01 +0.001 + 00001 +0 +1




